*UXSD S5RINiDG

/DIIRB

"5 by 7\J

o
™
=
n
oD
D
™
o3
=
™
7\G] 7\G] 7\G] 7\G]
6HPLQDUXP G\SRPRZH Gl KDE T\ZQRG( Z\JRGQD L IXQNFIRQDIQD G T\ZQRG( Z\JRGQD L IXQNFIRQDIQD GU | |3UDFRZQLD G\SIRPRZD GU 6LHPLRQ
%DUFT\EVND DHIXVIDN SHQDID SURI _DSXGQIDN _DPUD =DICFID RQ 1.QH _DSXGQIDN _DPUD =DICFID RQ 1.QH 3UJHP\ViDZ SIRI 8-* =DICFID RQ
8-" =DICFIDRQUQH "5 6 "5 "5 / WQH "5 7/
7N 7\G] 7\G] 7\G]
6HPLQDUXP G\SRPRZH Gl KDE 3UDFRZQID G\SIRPRZD Gl %DQGXUVND SRID PINURELRIN IHURZHI | ZSNZ QD 6HPLQDUXP G\SRPRZH Gl KDE
%DUFT\EVND YHIXVIDN SHQDID SURI _DIDU]\QD =DICFDRQUQH = 5 JGURZIH (XG]L GU KDE %DUFJ\EVND %DUFT\EVND YHIXVIDN SHQDID SURI
8-" =DICFDRQUQH *5 6 / YHIXVIDN SHQDID SURI 8-=" =DICFID RQ 8-" =DICFIDRQUQH =5 6
gH =5 .
7\G] 7\G] 7\G]
T\ZQRG( Z\JRGQD L IXQNFIRQDIQD G 3UDFRZQLD G\SIRPRZD Gl KDE %.F]DN ) 7\G] T\ZQRGU Z\JRGQD L
_DSXGQIDN _DPUD =DICFID RQ 1.QH SREHUI SURI 8- =DICFLD RQ (IQH T\ZQRG( Z\JRGQD L IXQNFIRQDIQD G IXQNFIRQDIQD Gl ‘
"5 . "5 / -DSXGQIDN _DPUD =DICFID RQ 1.QH _DSXGQIDN .DPID =DICF
5 - - - DRQIQH =5 =
7\G] 5 =
a 3UDFRZQID G\SIRPRZD Gl 6LHPIRQ 7\G]
= 3UJHP\ViDZ SIRI 8- =DICFID RQ SRID PINRELRIN IHLIRZHI L ZSNZ QD
0 WH "5 7/ JGURZIH (XG]L GU KDE %DUFJ\EVND
o YHIXVIDN SHQDID SURI 8- =DICFID RQ
> 7\G] QH =5 .
T\ZQRG( Z\JRGQD L IXQNFIRQDIQD G G
_DSXGQIDN _DPUD =DICFID RQ 1.QH \C] :
"5 / 3RUDGQLFIZR T\ZIHQRZH PJU 6]F]HFKRZIF] $QUD =DICFID RQ
WH "5 =D
7\G]
T\ZQRGii
Z\JRGQD L
IXQNFIRQD)
QD G
- DSXGQIDN
.DPUD =Di
CFID RQ
0oH -
5 -
7N 7N 7\G] 7\G]
- 3RUDGQLFIZR T\ZIHQIRZH PJU 6]F]HFKRZIF] $QUD =DICFID RQ 3RUDGQIFIZR T\ZIHQIRZH PJY 3UDFRZQLD G\SIRPRZD Gl . DSXGQLON 3UDFRZQID G\SIRPRZD PJU
WQH "5 =D 6]F]HFKRZIF] $QUD =DICFLD RQ (IQH _DPUD =DICFIDRQIQH "5 / _UJ\TDQRZVND -RIDQID =DICFID RQ (L.QH
"5 / "5 /
\ \ \ \ \




/DIRB

*UXSD S5RINiDG "5 by 7\J

7\6]

SRID PINRELRIN IHLIRZHI L ZSINZ QD
JGURZIH (XG]L GU KDE %DUFJ\EVND
YHIXVIDN SHQDID SURI 8-~ =DICFID RQ

IgH =5 .

GHPLQDUXP G\SIRPRZH Gl KDE
%DUFT\EVND YHIXVIDN SHQDID SURI
8- "=DICFLD RQ (IQH

7\6]

‘i\ZQBGU Z\JRGQD L IXQNFIRQDIQD GU
-DSXGQIDN -DPLUD =DICFLD RQ ILQH
"5 z "5 -

7\6]

GHPLQDUXP G\SIRPRZH GU KDE
%DUF]\EVND )HIXVIDN SHQDID SURI
8-" =DICFID RQ I.QH

QLHG]LHOD

7\6]

3RUDGQIFIZR T\ZIHQRZH PJU 6]F]HFKRZIF] $QUD

DICFLD RQ (LQH

3UDFRZQLD G\SIRPRZD GU ODUF]DN
ODJGDIHQD =DICFLD RQ 0lQH

/

3RUDGQLFIZR T\ZIHQIRZH PJU
6]F]HFKRZIF] $QUD =DICFLD RQ IIQH "5 7/

7\6]

3UDFRZQID G\SIRPRZD PJU .UJ\TDQRZVND -RIDQID =DIGFLD RQ QH
/

7\6]
3UDFRZQID G\SIRPRZD

PJ

6]FIHFKRZIF] $QUD =DICFLD RQ UIQH

"5

7\6]

T\ZQRGU Z\JRGQD L IXQNFIRQDIQD GU
DSXGQIDN _DPUD =DICFID RQ (LQH
"5 .

7\6]

T\ZQRG( Z\JRGQD L IXQNFIRQDIQD G
.DSXGQN .DPUD =DICFLD RQ (IQH
5 /




